Sumar Decimales (C)

Halle cada suma

28 +27 = 78 + 0,89 =
46 + 0,83 = 36+2,9=
2,9+0,98 = 39+9,7=
0,16 +67 = 0,52 +34 =
40+ 0,37 = 4,5+ 44 =
80 + 6,1 = 0,34 + 81 =
33+73= 73+1,8=
4,8 +0,85 = 0,72 + 0,81 =
67+9= 0,19+9=
0,83 + 0,98 = 91 +2,1 =
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Sumar Decimales (C) Respuestas

Halle cada suma

28 +27 =55 78 + 0,89 = 78,89
46 + 0,83 = 46,83 36 +2,9=38,9
2,9 +0,98 = 3,88 39+9,7=148,7
0,16 + 67 = 67,16 0,52 + 34 = 34,52
40 + 0,37 = 40,37 4.5+ 44 =485
80 + 6,1 = 86,1 0,34 + 81 =81,34
3,3+73=763 73+ 1,8 =748
4,8 +0,85 = 5,65 0,72 + 0,81 = 1,53
67+9=76 0,19+9=09.19
0,83 +0,98 = 1,81 91 +2,1=93,1
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